rAufgaben zum Faktorisieren (Ausklammern) [Basic]

«

Term, der
ausgeklam-
mert werden

Term soll Ergebnisprodukt
—4 (=4)(9ac—21ab)
84ab—36ac
-2 (—2)(18ac—42ab)
-3 (—3)(15s5¢t—18¢ p)
—45st+54¢t p
-9 (=9)(5st—61p)
4 4[(a—2)c—2c(2—a)
4(a—2)c—8c(2—a)
c cl4(a—2)-8(2—a)]
6 6[s(3—t)—2(t—3)s]
6s(3—t)—12(t=3)s
s s[6(3—1)—12(t—3)]
—6a (—6)a(4bd—2bc—3e)
12abc—24abd+18abe
-3b (=3)b(8ac—4ad—6ae)
—4p (—4)p(Brt—4qgr—>5rs)
16 pgr+20 prs—12prt
—2r (—2)r(6pt—8pg—10ps)
—a (—a)(bd—bc)
abc—abd
—b (=b)(ad+ac)
—x (=x)(=yz—uy)
Xyz+uxy
—y (=y)(=xz—ux)
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